10% 9= 10x10=
11 x 6 = 9x 6=
GXI2=
8x4=
9><11=
n 8x3= 7x12=
B2 10 10- 11x2 =
B 6x6- B sx10-
n 7x5= 8x3=

eIl 12 x 11 =
11 x 11 = 3><12=
12x2= 4x9=
LN 12 x 12 = 33
12x2=
6x8= 7x7=
8x4= 2x8=
9x2-= 5x 8=
5x11=
8x6=
m4><12=

RN 10 x 11 =

6x11=

AN 10 x 11 =

o} 10x 5=

10x 6=

812 x 12 =

k)12 x 11 =
el 12 x7 =

8x5=

N ACCESS MATHS

60

EOT IT
1-35

36-59

MASTERED IT!

11x9-=

812 x 10 =

5x9=

SN 10 x 11 =

www.accessmaths.co.uk’A



file:///E:/ITT%20Work%20Files/Access%20Maths/Number/www.accessmaths.co.uk

10x9 = 10><10=
11x 6= 9x6=

RN 10 x 11 =

6x11=

il 10 x 11 =

7><12=
10x10= 27
n 6x6= 8><10=
n 7%x5= 8x3=

o 10x5=

11x2=

el 12 x 11 =

3x12=
VAl 12 x 2 = 4x9=

10x6=

UM 12 x 12 =

NN 11 x 11 =

IEN 12 x 12 =

12x2=
6x8= 7x7=
8x4= 2x8
9x2= 5x8=
5x11=

B 12x7- 8x 6=

8x5= 40

ey 12 x 11 =

4x12=

N ACCESS MATHS
11 x 11 = L

60

EOT IT
1-35

36-59

MASTERED IT!

U812 x 10 =

5x9=

SN 10 x 11 =

57

www.accessmaths.co.uk’A



file:///E:/ITT%20Work%20Files/Access%20Maths/Number/www.accessmaths.co.uk

